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The magnitude of the second order HP function of (10.15) is:

G(ω)= |H (j ω)|= 
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For ω=0 at very low frequencies, we have Go = G(0) = 0, 
And for very high frequencies, i.e. when ω→∞, we have G∞ = G(∞) = A.
It can be easily shown that, as in the case of the LP function, if Q > √1/2 , a maximum value GMAX exists at frequency ωMAX:
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The value of the maximum GMAX at ωMAX is given by
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Obviously, for high Q-values we have ωMAX = ωo  and  GMAX = G∞Q= AQ.

The prototype cutoff frequency, the frequency at which the gain becomes

√1/2 G∞ = 0.707G∞. 
And where the logarithmic gain drops - 3 dB from 20 log(G∞), is given by:
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